Xt 2 (MSDS)

Y,
K]
o)
KU
O

g

.l

OFJUIE (Magnesium Stearate)

3

A
()

=
—

2 HIOHE!

zy:

=
=

il

Ol
<0
({0

et A

H
00

HZ2 d1

0o

00
ol
<]

ok

0o
3l

)

b0

H
00

MZ2 21

i
o8

<k
ioll

ok

iy
RO

Ju
M0

Gl

M0

2&), TEL 1 02 - 727 - 9494

: PEROXIDE/SCA E

=Ey

|.

F

cC
=]

o0

10l

Uk
[

o0

00

10l
700
IH

un
0

r
RO

10f
vl

1]
b0
oF

Ok

1]
K
K
0

oHA NAIL. JtsotH

ANOARL.

sy
)

AT, A

9

P337+P313 =0l X+=01I X

P305+P351+P338 =0l
ZEHEAXE HAH

o

gt
cH

o
53
|lx

NE

o
53
|lx

D

X0
0l

oJ

ar

w0
Ok

oD
ok

K0
8o

Ol
jig!
X0
X0




Otduls

3

<
)

Eil Ot
OCTADECANOIC ACID, MAGNESIUM SALT

557-04-0
100%

A

8o
Kl
0K

S (%)

oD

0

K
KA

0l

i

ER=

=

E
=

2 XM M2AIR. JIsotH 2

=
FAI2 . A A2AIL.

3

2
[

[

ol

m

a)
0l
]

JH

A
-/

ol X

s §
=

(¢]
ol Xt

HIAH

[—
[

ol
s

Hr
RD

I+

=

R2Z FIIANL
IH H==AI2

PR

P

o

Al

H

FRHAI CHA 2

b

o

ol

00

i

[
0K
Ju

.
o

4
wJ
10y
<J

-,

all
I+

i

1

X0

Ok

RO
uir

1

20 i

_

w

I+

RN
Ok
ol
o}

AN

A O
= T

gt st

=

JFEA 010t =

o
o3
%

Ton
X0
ol
ol
0]

5

A2

110
10y
4

P

IRt

OF
un

Kl

oJ

fi

o
ar

H StAI2

L

oF

O XI X

=
=

IO|

A
=

o == WA JIS&1 =

_?_
Gt XIS 0A EDI

FIIAL

=2
=

oF
s

X

=l

c
0

o
A

£ EJIE AolAL

X
o

FoFHLE

3
AWM SHUAIL

22 20 A3

A 2

2

ICHAH2IONA 2
2

S

—_

2|

3
3

EH
S
EH
S



10f
H

K
%0
K
K

1ol

Ell

=]
1o

ok

110
10f
H
i
=

ol

OG2AL.

00

10f
H

OtLH D,

FAIL

oF
<
KIr
Ol
o3
KJ
at)
Kl
oH

£ Mo

2|
oF
s

or)
110y

P

Ul
0]

60

OtAl2

E=0 UK

= 2JL &

A
—

| &0 I

Z0otX

KM

i
ol
10f
H

1ol
0
zr

00

K
KA

1ol

=]
1o

=

=] 3=}

o

b Es HIA

2

) 8

3

=]

=
=

D

1ol
Kq
T
Ul
i

Z (o

Ok
X0
ol
I

ANES A S22 AN WAIL.

CAN2.

(=]
=

il

0

-

KO
=
ok

i
S

| WAL,

[[e]

E=DN|

i
oF
g
]
s

il

=)
loF

i
S

0

i
RR
KJ

oJ

Ul

» oz B

o=
M=

NS WIHIIOF 0t

S0=

BRI &

|t

OG2AL.

i
K
K
0

|.

Ol

Fll

MSDS/ 2t

FAIL

1o
ol

tOd

110
K
KO

i
10f

o
R
Rr

B
o)

<+

0
Rl
orl
ol
o
0
Ul

bl
0
K0
=
10
<]
oJ

FAIL

o
K

| H

1o

Hub BE

=

10{
i

ol
ol

0
il
H

ulo
Kb

m
il
H
&I
ol

%0
i

m
il
H

Ol
=
]
ol
ol

o
53
|lx

=U+3
ACGIH ++&

o
53
|lx

o
53
|lx

Kk
m
il
H
&l
ol

20

Mot et et AFRIE

=
[a—

Bl

= A
— =2

tHALE AFSSH

1o

1

Rl
ol
Ho

10l
0
zr

FAIL

10{
i

ol

1

H

10f
H

m
o[
10f

1ol
0
o

Ok

]
<

10f
H

JH

10f
H

<1




0

-

oJ

e 1
oW O 3 B

N <0
IO
o

& Al

& A S X

RO
Ju

RO
Ju
Hr

ok
10

RO
Ju

o
n

—_

(]
RO
Ju

n

0
80
TH
ol
K0
i
oJ
JJ
3

il
il

0l
Kl
0K

=)
ol

o

00

=
o

H
4

KIo

o
53
llx

6.526-15 mmHg (25C (F&XI))

-

ol

~
Klo

=
=84

A
IS)

00

o

00

=
o

H

™

KIo

1.02
14.34 (

o
53
llx

H

[
ol
3l

o
53
llx

W
ol
)

[

o
53
llx

U
RO

591.3

ar

n0
K
Il d

70
010
oJ
ol
70
&0
oJ

%0
Jo

ol
010
oJ

o

ok
ol
0
K0
oJ
Rl
o
10y

E=P|

o

<k
ol
ol

o
0]

70
0

T

o

o
o

%

ol
°

(|
Ok
X0
o
I
(|
Ok

70
&)

Ot
iloll

b

HOF

3

3) 1l

1

0]

RO

0o

iy
RO

@
]

R0

il
H

0l
i

%0
Jo

10l

i
o3

%

0o

iy
RO

70
o

Ok

-

n0
N

70

o
53
llx

o
53
llx

W - =
X0 R0 RO

Mo



o
53
llx

oD

AtEel OIS0l Xt

It

0o
o3

20
10

il
0l
oll

ol

o
53
llx

X0
ol

—_

=

o[
10f

o
53
llx

X0
o0
ol

o
53
llx

7l
Y
H
24|
ol
)]
<

o
53
llx

DELESF A

| ARC
OSHA

o
53
llx

o
53
llx

A4 (Stearates)

ACGIH
NTP

o
53
llx

o
53
llx

EU CLP

o
53
llx

o
53
llx

70
r

T
%0

o
53
llx

Rr
H
RO
uir

o
53
llx

)
H
Hr

oJ

70
Uir

KO
Rr
=8

RO
uir

o
53
llx

X0
1o
s
ol
oD

i00

70
Uir

20

o
53
lx

0o o
53 &%
nw

nE
A e
A K4

X0
IS

[

log Kow 14.34 (=& X|)

70

KJ

o
53
lx

70
Hr

0Kl

20

o
53
llx

70
Hr
0

o
53
lx

20
10

20

o
53
llx

o
53
llx

HIDOIAl =2l ALSY

13.

&0 et W

OF
R0

W

Al

8o

2ol

0l

D

1) HOIYH

FAIR .

15

&

X~ S
70l FAIE FAMEE 1

H
ST

FAIE

2ol

0l

D

|.

100

2) HIJIAl F=2/At

iy
RO

10l

Ell

0
0B

o
53

iy
RO

[

o

00

= ]
o

8o
Rr
!
RO
Rr



o

00

=
)

o
1

Ol A 2l

3) 25

o

00

=
o

Mo
ulo

o
53
llx

O
30

o0

= ]
1o

s
1

-

uJ
3

0B
Ju

.
o

0
0B

6) AL XIIt

o

00

= ]
o

o

00

= ]
o

HA M o3

15.

o
&3

00

=]
o

st Xl

ol 2l

o
&3

00

=]
o

AN

S
=

stst=a 228l 2
Sord e gol 2

)
)

4) molE2elgol <

2
3

o
53

e

00

T A

=

S
=]

Ok

o
&3

00

=]
1o

T Xl

=

T Xl

=

5) JIEt =W 2 2=-0ol <

= WA

o
&3

00

0=
)

o
&3

00

=]
o

(OSHA &)

o
&3

00

=]
o

(CERCLA #&)

o
&3

00

=]
o

(EPCRA 302 +&)

o
&3

00
IS

(EPCRA 304 #A)

o
&3

00

=]
o

(EPCRA 313 #A)

o
&3

00

=]
o

@u

o
&3

00

=]
o

o
&3

00

=]
o

o
&3

00

=]
o

o
&3

00

=]
o

o
&3

00

=]
o

INI=

_lh_
__.AD

s

16. JIE

Ll

RO

100
Ok

R0

-

0

0
4

<]

H
%0
RN
Ok
ol
o}

o
ol
&)
fal
I
]
mr

1996. 05. 02.

2qAX; -

70
Kl

K
"

b

oll
RO

Ko
)
ok

3
o
RO

1 2017. 08. 01

HE LI

=
=)

i

10f

bl
RO

25 LICH

oF
L

tXl=

o

CH &t

XIS Ol

Ju
iy

PN
=}

I

NI



H=ZFLICH

XIS Ol

==

10
1

=
10f

SLICH.

oF
s

IS ==& 2A20A SHEX

#H ZX

= =
=3 °H7<:;->|,

(=3}
=

Ul

(]
-



